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QID : 1 - In the following question, select the related word from the given alternatives.

Kilometre : Metre : : Tonne : ?
fmfefaa oy & fu e fawed & & Sefd e &1 g

e HeR a9 2
Options:

1) Litre

GIGRY

2) Kilogram

famm

3) Hours

4) Weight
UR
Correct Answer: Kilogram

Candidate Answer: Kilogram

QID : 2 - In the following question, select the related letters from the given alternatives.
AGN:IOV::BLM:?
fFafarad us 7 fag 7 fasbedl & 9 Faiferd ofarl @1 gHu

AGN:IOV::BLM:?
Options:

1) JTU

2) KTU

3) Juv

4)TU)

Correct Answer: JTU
Candidate Answer: JTU

QID : 3 - In the following question, select the related number from the given alternatives.
9143:9963::6731:?

frafafed uy # fou U fawedl # § wefta dem o1 gl

9143:9963::6731:7?

Options:

1) 1368

2) 5666

3) 8964
4) 9694

Correct Answer: 8964
Candidate Answer: [ NOT ANSWERED ]

QID : 4 - In the following question, select the odd word from the given alternatives.

fafoRad uy ¥ fow e fawedl & 9 fawy wreg &1 gHul

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MDkwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 1/26
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Options:
1) Chennai

2) Daman
AT
3) Raipur

AR
4) Shimla
e

Correct Answer: Daman
UL
Candidate Answer: [ NOT ANSWERED ]

QID : 5 - In the following question, select the odd letter from the given alternatives.

frafafed uy ¥ 3T U fawed! & ¥ fawy sier & gl
Options:
1)B

2) N
3)p

49w
Correct Answer: W
Candidate Answer: W

QID : 6 - In the following question, select the odd number from the given alternatives.

froafiiad uy # fu T fiwed! & § favw &1 31 g
Options:
1) 313

2) 426
3) 925

4) 1034
Correct Answer: 313
Candidate Answer: [ NOT ANSWERED ]

QID : 7 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Ball

2. Balanced
3. Balls

4. Balance
5. Balancing

fraffed Xreal o Wead N & o It HH & SIUR |

1. Ball

2. Balanced
3. Balls

4, Balance
5. Balancing
Options:

1) 24135

2) 42135

3) 42513

4) 54213

Correct Answer: 42513
Candidate Answer: 42513

QID : 8 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

AG, LR, WC, HN, ?

T 3hH fear man B, o ¥ U Ue g 81 fou T st 7 I a8 9et fased I, St 3 H & - AR

AG, LR, WC, HN, ?

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MDkwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c
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Options:

1) QY

2) RX

3) Sy

4)TZ

Correct Answer: SY
Candidate Answer: SY

QID : 9 - In the following question, select the missing number from the given series.
13,16, 11, 18,9, 20, ?
Fafafed uy o fou 7 fawedl & & g sie 1d S|

13,16, 11,18, 9, 20, ?
Options:

1)3

2)5

3)6

4)7

Correct Answer: 7
Candidate Answer: 7

QID : 10 - Punit said to a lady, "The sister of your father's wife is my aunt". How is the lady related to Punit?

gHId U i & el § s, "greR fareh @t ued ot ge B8 9o 31" 98 i, YT 9 5 UeR Wefdd 82
Options:
1) Daughter

2) Grand Daughter
Oreit
3) Niece

4) Cousin sister

A/ T8

Correct Answer: Cousin sister
AL/ d8

Candidate Answer: Cousin sister

EEA/LENCEE]

QID : 11 - There are 45 trees in a row. The lemon tree is 20™ from right end. What is the rank of lemon tree from left end?

TS Ufad & 45 ger §1 N HT 38 <8 BR F 20 § W W g1 G F &1 BT - 918 BR I 71 8?
Options:

1) 26

2) 24

3)25

4)27

Correct Answer: 26

Candidate Answer: 26

QID : 12 - In the following question, from the given alternative words, select the word which cannot be formed using the letters of the given word.
UNIFORMITY

feu o gy #, Fofafed fawe o @ 98 Wse AT o U U Tsg & 31eRY BT UART HRP TET ST S ThlT B

UNIFORMITY
Options:

1) ANNUITY
2) FORUM

3) MINT

4) UNIFORM

Correct Answer: ANNUITY
Candidate Answer: ANNUITY

QID : 13 - In a certain code language, "TIRED" is written as "56" and "BRAIN" is written as "44". How is "LAZY" written in that code language?

T Y His YT H, "TIRED" &1 "56" TT "BRAIN" & "44" foral STTdT T 1 39 HIs WO H "LAZY" &I {6y YR ferar Smem?

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MDkwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 3/26
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Options:
1) 64

2) 61
3) 58

4) 43
Correct Answer: 64
Candidate Answer: 64

QID : 14 - In the following question, by using which mathematical operator will the expression become correct?
1826297227
frofefad uy , f3u e faee § ¥ fo5m it dftsarstt & vah wa ¥ foar wn arfie<or e g smerme

1876297227

Options:

1)x, +and =

X, + a4l =

2) -, xand =

+, X dYl =

3)x, +and =

X, + Tl =

4) +,—and =

+, —dUl =

Correct Answer: +, x and =
+, X dYl =

Candidate Answer: +, x and =
=, X dYl =

QID : 15 - If 18 (9) 3 and 36 (30) 5, then what is the value of A in 19 (A) 18?

Tfg 18 (9) 3 TUT 36 (30) 5 B, < 19 (A) 18 H A H AF T &2
Options:

1)33

2) 57

3)75

4) 96

Correct Answer: 57

Candidate Answer: [ NOT ANSWERED ]

QID: 16 -
In the following guestion, select the number which
can he placed at the sign of question mark (?) from
the given alternatives.

TR vy # R or Reeeut 7 @ wy B
(7)%F TUE W I A T F AT

Options:
1) 53

2) 56
3) 59
4) 66

Correct Answer: 56

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MDkwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 4/26
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Candidate Answer: 56

QID:17 -

How many triangles are there in the given figure?

A & T g 3t Ry Pt &

N /
b Fi

/

\\ A
___—_X::--:__"f_{_f_

Options:

1) 14
2) 15
3)17

4) 18

Correct Answer: 17
Candidate Answer: [ NOT ANSWERED ]

Staff Selection Commision

m BYJU'S

QID : 18 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

I. Some pens are pencils.
II. All pencils are erasers.

Conclusions:

I. Some pencils are not pens.
II. Some erasers are not pens.

2 e T Uy H T FUA IR 3P 18 37 B! TR SHURG $& (b G T &, gTatifer I8 Ty J1d i § forerem &1 aobaht o1 9t fepef o ofiR i Feffa
X F U MU BIF § ey, 3y U At & R W gfHaETd 7

DY:

1. % 09 IRid B
11 g+t ot TR B

e

1. $© ORid 97 e

I1. $% &R O T8I B
Options:

1) Only conclusion (I) follows.

s (1) TEt B

2) Only conclusion (II) follows.

Fad ey

1) 9& g

3) Neither conclusion (I) nor conclusion (II) follows.

T Py (1) ok 7 € Frsed (11) Tt B

4) Both conclusions follow.

3T €t Freed wEt B

Correct Answer: Neither conclusion (I) nor conclusion (II) follows.

T a frsed (1) 3R 7 € Fsed (11) Wl B

Candidate Answer: Neither conclusion (I) nor conclusion (II) follows.

T e (1) iR 71 €t fAsee (1) W@t B

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MDkwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c

5/26



9/7/@ BYJU'S Staff Selection Commision
QID: 19-
Three positions of a cube are shown below. What
will come opposite to face containing ‘4'?

&= TF g & fieT aTunT AT A &) e
‘4’ F TuliT Bl UT FiF T 3HF HTAI?

e i A
6> 4> Fd
3J4 52 36
Sl - Ny P2

Options:

1)1

2)2

3)4

45

Correct Answer: 1
Candidate Answer: 1

QID : 20 - Identify the diagram that best represents the relationship among the given classes.

Music Instrument, Piano, Guitar
I8 3@ AT ot 2 3T U ot & o & ey @1 9el AT war g1

are 4, o, frer
Options:
1)

(@

2)

3)

4)

Correct Answer:
Candidate Answer:

QID:21-

Options:
1)

2)

A

3)
4)

Correct Answer:
Candidate Answer:

QID:22-

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MDkwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c
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Options:
1)

2)
3)

4)
Correct Answer:
Candidate Answer:

QID: 23 -

Options:
1)

2)
3)

4)
Correct Answer:
Candidate Answer: [ NOT ANSWERED ]

QID: 24 -

Options:
1)

2)
3)
4)

Correct Answer:
Candidate Answer:

QID: 25 -

Options:
1) 00, 13,57, 76

2) 11, 04, 86, 59
3) 23, 22, 99, 95

4) 32, 40, 66, 68
Correct Answer: 11, 04, 86, 59
Candidate Answer: 11, 04, 86, 59

QID : 26 - Who gave the 'General Equilibrium Theory'?

T Tger Rigia foem ufeofea fasar ar
Options:

1) J. M. Keynes

I . B

2) Leon Walras

for3ii areR

3) David Ricardo

4) Adam Smith

e ey

Correct Answer: Leon Walras
IREISECIRES]

Candidate Answer: [ NOT ANSWERED ]

QID : 27 - Which of the following is not true about a Demand Draft?

i § o  fuis g & Tef 8 wd el &2

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MDkwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 7126
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Options:

1) It is a negotiable instrument.

Ig Us WRepT fored §1

2) It is a banker's cheque.

Tg T 96 I g

3) It may be dishonoured for lack of funds.

T8 4 B YT b HRUT 3RAIP b1 oI Thell 1

4) It is issued by a bank.

T8 S GRT IR foram o 21

Correct Answer: It may be dishonoured for lack of funds.

Tg ¢ P 3T $ BRU RGP b1 o JhaT 3|
Candidate Answer: [ NOT ANSWERED ]

QID : 28 - Who administers the oath of the President of India?

YRd P PURd & UG & Y B9 2oy fearar 82
Options:

1) Governor General of India

UYRA & TaR TR

2) Chief Justice of India

YR & T ararefer

3) Prime Minister of India

URA & YA

4) Vice President of India

YR &

Correct Answer: Chief Justice of India
YR & T AT
Candidate Answer: [ NOT ANSWERED ]

QID : 29 - Who among the following gave monistic theory of sovereignty?

Frofeaa & 3 frem T & siga Rigia g &
Options:
1) Austin

2) Darwin

3) Aristotle

SRy

4) Marx

Rt

Correct Answer: Austin

Candidate Answer: Austin

QID : 30 - Which one is the correct chronological order of the following events?

I. Quit India Movement
II. Shimla Conference
ITI. Poona Pact

1V. Cabinet Mission

frofeiad gersit &1 3% YeARFAINR Te) 1 1 §?

L. YRd BI8! 3figie
11. Fmyer gwieH

TI1. QAT St
1v. Hfye fmm

Options:

1) 11,1V, I, III

2) III, IV,II, I

3)II, L, II, IV

4)1V, 1L, 111, I

Correct Answer: III, I, I, IV
Candidate Answer: [ NOT ANSWERED ]

QID : 31 - In 1917, which movement was launched by Mahatma Gandhi from Champaran?

Ty 1917 H TETE e GRT SUR ¥ BHIF AT Sfieiad Y fbar 7/ ur

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MDkwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c
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Options:
1) Satyagraha
JATE

2) Non co-operation movement

3) Quit India movement
YR BISI 3
4) Swadeshi Movement

Correct Answer: Satyagraha
RIPH

Candidate Answer: Satyagraha
BEIPH

QID : 32 - What is the name of the tropical cyclones in the China Sea?

IR H 3 aTe IUbies N Tshard o1 o1 ATH 82
Options:
1) Hurricanes

qpr

2) Tornado
ECET

3) Twister

4) Typhoon
CEval

Correct Answer: Typhoon

Candidate Answer: Typhoon

CRET

QID : 33 - Which among the following country is not a part of Scandinavia?

fraffad & & o @ 2w WAy 1 fewm € 82
Options:

1) Norway

BIG]

2) Fir]land
3) Sweden
e

4) Denmark
Correct Answer: Finland

Candidate Answer: [ NOT ANSWERED ]

QID : 34 - Cattle quickly swallow grass and store it in their

7= I T & IR S # gvfed #vd g
Options:

1) rumen

UYH THREY

2) esophagus

Ior- ATt

3) small intestine

BT 3@

4) salivary glands

IR U

Correct Answer: rumen
TYH SHRY

Candidate Answer: [ NOT ANSWERED ]

QID : 35 - Which of the following carries oxygen to various parts of human body?

Froafeiad & 3 ®F A TR & it 3 &1 aifedior ag® &7

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MDkwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c
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Options:

1) Red blood cells
A X BIRIBIY
2) White blood cells
44 & q

3) Plasma

TATSHT

4) Nerves

Correct Answer: Red blood cells
NINEES)

Candidate Answer: Red blood cells
KIGEES)

QID : 36 - Which of the following function is performed by the kidneys in the human body?

AMa TWR & T2 370 I B I B IR 82
Options:
1) Excretion

2) Respiration
491

3) Digestion
PICE]

4) Transportation

Correct Answer: Excretion

Candidate Answer: Excretion

QID : 37 - The bending of light when it passes around a corner or a slit is due to

T GBI B R a1 forddt R 9 Rt &, P! goig I dferd g1 o g
Options:
1) reflection

2) refraction
3) diffraction
faad=

4) total internal reflection
Correct Answer: diffraction

Candidate Answer: refraction

QID : 38 - What is the reason for formation of Mirage in desert?

TERE § TR a1 PG 79 BT 3T HRUT 37 82
Options:

1) Refraction of light

TN HT 3Uac

2) Reflection of light

YT BT Ufcifora

3) Total internal reflection of light

U1 o1 ot aiaie

4) Both Refraction and Total internal reflection of light
YT BT U quT ot 3fidikes f

Correct Answer: Both Refraction and Total internal reflection of light
YT BT Sudc qut gof o i
Candidate Answer: Total internal reflection of light

g1l &1 quf sfiaie ufafera

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MDkwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c
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QID : 39 - FORTRAN is not used for .

(I) Drawing pictures
(II) Carrying out mathematics computations

TGN IRAIRTCE. HT AT FRuTE gl

(OBEECRIEK AN
(1) T TorT & forg
Options:

1)

Only (I)

%ad (I)

2) Only (II)

FHad (1)

3) Both (I) and (II)

(1) T (11) EIY

4) Neither (I) nor (II)

T (1) MR AL (1)

Correct Answer: Both (I) and (II)

(1) T (I1) ST

Candidate Answer: [ NOT ANSWERED ]

QID : 40 - Which of the following bonds are weakest in nature?

frafafed # 3 9o AR §Y S 1 72

Options:

1) Single bond

Thd §Y

2) Double bond

CIERUCE

3) Triple bond

ISERICE!

4) Hydrogen bond
Y

Correct Answer: Hydrogen bond
qY

Candidate Answer: [ NOT ANSWERED ]

QID : 41 - In the following reaction, fill in the blank.
Acid + Base — + Water

fafaRaa sffrar § fad M W)
3T + &RP — + Ot
Options:
1) Carbon Qioxide
PIa SRS
2) Metal Oxide
Ted Hfiqzs
3) Hydrogen Gas
™~

4) Salt

THD

Correct Answer: Salt

THD

Candidate Answer: [ NOT ANSWERED ]

QID : 42 - Bishnoi movement was started against which of the following?

faeg en<iem 39 ¥ g & faeg 3 fopam mar ume
Options:

1) Cutting of Trees

S #Y Fers

2) Inequality of Women

Tl A

3) Killing of Animals

Rl

4) Increasing Pollution

g e

Correct Answer: Cutting of Trees

USi &1 Hers

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MDkwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 11/26
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Candidate Answer: Cutting of Trees

US! 31 Fers
QID : 43 - What is the major aim of Pradhan Mantri Ujjwala Yojana?

T Isaar dIoHT &1 G ded 1 82
Options:
1) To provide electricity
EHMEEZGI
2) To provide LED bulbs
T3S Ied UGH &l
3) To provide LPG connections
TSR, SR J&™ AT
4) To construct village roads
TTd Bt GSH! BT AT BT
Correct Answer: To provide LPG connections

TSR, HARA U™ BT
Candidate Answer: [ NOT ANSWERED ]

QID : 44 - Who discovered television?

efafaeH &1 snfassR faram fasar ure
Options:

1) Michael Faraday

ARHd IS

2) Joseph Henry

T® IR

3) Abbe Caselli

3y B

4) John Baird

EIECEE)

Correct Answer: John Baird

ElRERS
Candidate Answer: [ NOT ANSWERED ]

QID : 45 - How many players are there in a team of Volleyball?

Jieliaret B U 1 # fbe e gia 82
Options:

1)2

2) 4

3)6

4)5
Correct Answer: 6
Candidate Answer: 6

QID: 46 -

Options:
1) 1-b, 2-¢, 3-a

2) 1-¢c, 2-a, 3-b
3) 1-a, 2-¢, 3-b

4) 1-b, 2-a, 3
Correct Answer: 1-c, 2-a, 3-b
Candidate Answer: [ NOT ANSWERED ]

QID : 47 - Who among the following has been recently awarded with ‘Indian of the year’ award?

e & @ f5d e & & 5807 offr ¢ S RepR fean mam

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MDkwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 12/26
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Options:
1) Sunita Rani
I

2) Dhiraj Singh

fRe1 Rig

3) Preety Shenoy

Thifer R

4) Abhishek Kumar
INF FIR

Correct Answer: Preety Shenoy

e R
Candidate Answer: [ NOT ANSWERED ]

QID : 48 - Who is the author of the book titled 'Selection Day'?

A ' TS fpd1e b TGP/ /ARIHT DI 87
Options:

1) Aravind Adiga

aRfde eifem

2) Anil Menon

3 A

3) Krishna Sobti

ERUKICRIl

4) Arunava Sinha
3r&urq g1

Correct Answer: Aravind Adiga
3Rfde ffEm

Candidate Answer: [ NOT ANSWERED ]

QID : 49 - Which of the following country is not a member of BRICS association?

fAfffd & & o9 @1 3w fyew affy &1 gew =2 &2
Options:

1) Brazil

2).Russia

g

3) Iceland

TS

4) China

G

Correct Answer: Iceland

Candiglate Answer: Iceland

QID : 50 - With which of its neighbouring country India has Kalapani territorial dispute?
T g USIRR <=1 & WY R T Hremar & fyarg 82

Options:

1) Nepal
ure

2) Bangladesh
3) Pakistan
BlESIE]

4) Sri Lanka
ficiet

Correct Answer: Nepal

Candidate Answer: [ NOT ANSWERED ]

QID: 51 -

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MDkwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c
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Options:
1)

5
2)

e

3)
812

4)
13276
Correct Answer:
5
Candidate Answer:

5

QID : 52 - A piece of work was finished by A, B and C together. A and B together finished 60% of the work and B and C together finished 70% of the work. Who
among the three is most efficient?

foreht BT @1 A, B TuT C iR R R €1 A 7T B FIcas o1l o7 60% % T A & 3R B quT € fireir & &1 70% 2w g1 v &1 1 A @ e aifires
PG HH g2

Options:

1)A

2)B
3)C

4)AorB

AT B

Correct Answer: C

Candidate Answer: [ NOT ANSWERED ]

QID : 53 - Three solid spheres of radius 3 cm, 4 cm and 5 cm are melted and recasted into a solid sphere. What will be the percentage decrease in the surface
area?

394, 4 .4, Ut 5 A, F I M B OEeTeR TH o M BT HR & s 71 g SFwd # fohan ufawid @) fikmae geie
Options:

1) 12

2) 14

3) 16

4)28

Correct Answer: 28

Candidate Answer: [ NOT ANSWERED ]

QID : 54 - The marked price of a sofa set is Rs 4800 which is sold at Rs 3672 at two successive discounts. If the first discount is 10%, then what will be the second
discount (in %)?

TS AhT I Rt Sifdrd Ted 4800 ¥ &, S &1 il B W 3672 . T 991 9T ¢ | Afe Ugeh e 10% &, @ g¥R1 Be (% H) :M 8?2
Options:

1)13

2) 14

3)15

4)17

Correct Answer: 15

Candidate Answer: [ NOT ANSWERED ]

QID : 55 - A, B and C invested amounts in the ratio 3 : 4 : 5 respectively. If the schemes offered compound interest at the rate of 20% per annum, 15% per annum
and 10% per annum respectively, then what will be the ratio of their amounts after 1 year?

A, BTUTCHURE: 3 : 4 : 5 AT H AR &1 3% 3 7| TS Aerrait o HHr: 20% a1, 15% aifies quT 10% a1 &t a3 | Tshgfa = fear wmar 8, @ e
TS TYId IS AR BT U T GIT?

Options:

1)3:15:25

2)6:6:5

3)36:46:55

4)12:23:11

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MDkwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 14/26
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Correct Answer: 36 : 46 : 55
Candidate Answer: [ NOT ANSWERED ]

QID : 56 - The average age of 120 members of a society is 60.7 years. By addition of 30 new members, the average age becomes 56.3 years. What is the average
age (in years) of newly joined members?

TH TG & 120 Jew! Bl 37NId 311G 60.7 IY 71 30 AT el & 3 F 39 311 56.3 T 1 St 81 T M U Wawit &1 S oy (st #) et 82
Options:

1) 36.5

2)37.2

3)38.3

4)38.7

Correct Answer: 38.7

Candidate Answer: 38.7

QID : 57 - By selling 175 pineapples, the gain is equal to the selling price of 50 pineapples. What is the gain percentage?

175 AN §=H W, 50 3FMN & f3eh0 Ted & $RIR $1 BAST 8T | A1 &1 Ufa=id fam 82
Options:

1) 28

2) 30

3)32

4) 40

Correct Answer: 40

Candidate Answer: 40

QID : 58 - If A has got 20% more marks than B, then by what percent marks of B are less than the marks of A?

T A, B Y 20% 31 3ich UTd BT §, O B &P 3/ A & 3! F i ufowrd &A1 22
Options:
1) 16.66

2) 20
3) 33.33

4) 14.28
Correct Answer: 16.66
Candidate Answer: 16.66

QID : 59 - A train leaves Delhi at 10 a.m. and reaches Jaipur at 4 p.m. on same day. Another train leaves Jaipur at 12 p.m. and reaches Delhi at 5 p.m. on same
day. What is the time of day (approximately) when the two trains will meet?

T YS! feett 9§ 10 gafg (T @)Wﬂﬂ?ﬁ%aﬂ13¥ﬁﬁq4m(ﬂ1 qn)u?wugx Ugd S 1 GERY YT SRR ¥ 12 31RTg (FF. TH.) WR Tt § au 39 fe 5
3RTE (F. TH.) R et ugadh 81 a1 & v ww (srgmifid) wR 31 Yermiea firerdh &2
Options:

1) 1:42 p.m.

1:42 3RTE (. TH.)

2) 1:27 p.m.

1:27 3R (Ut TH.)

3) 2:04 p.m.

2:04 3RIE (4. T9.)

4) 1:49 p.m.

1:49 3RTE (T TH.)

Correct Answer: 1:49 p.m.

1:49 3(RTE (. TH.)

Candidate Answer: [ NOT ANSWERED ]

QID : 60 - The difference between the compound interest compounding half yearly for 1 year and the simple interest for 1 year on a certain sum of money lent out
at 8% per annum is Rs 64. What is the sum (in Rs)?

1 9% & Iehgfs ST aUT 1 a9 & QYR ST H ) FAfEd I B SR T3 W 8% Y A1ftfes TR W refariier TaIoH A 64 T BT AR ST &1 FRI (3 H) F1 82
Options:
1) 40000
2) 42000
3) 44000
4) 44800

Correct Answer: 40000
Candidate Answer: 40000
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QID: 61 - If (x — 2) and (x + 3) are the factors of the equation X2 + kix + ky = 0, then what are the values of k; and ky?

e THIBRT %2 + kyx + ky = 0 P TOFEUS (x — 2) T (x + 3) B, Al ky TUT ky BT A T 82
Options:

1)k =6k =-1

2)ky=1,k,=-6

3)ky=1,k =6

4)kj=-6ky=1

Correct Answer: k{1 =1,k,=-6

Candidate Answer: [ NOT ANSWERED ]

QID : 62 - If (x — y) = 7, then what is the value of (x — 15)3 — (y — 8)3?

Tfe (x—y) = 7 8, @ (x — 15)3 = (y — 8)3 BT AN T 82
Options:

1)0

2) 343

3) 392

4) 2863

Correct Answer: 0
Candidate Answer: [ NOT ANSWERED ]

QID:63-If x—y—V18 = —1 and X + y — 3v2 = 1, then what is the value of 12xy(x? — y2)?

T x—y— V18 = -1 AT x + y — 3v2 = 1 G, dl 12xy(x? — y2) &1 HH 1 82
Options:

1)0

2)1

3) 512v2

4) 612v2

Correct Answer: 612v2
Candidate Answer: [ NOT ANSWERED ]

QID : 64 - If p/q = r/s = t/u = V/5, then what is the value of [(3p? + 4r2 + 5t2)/(3g% + 4s + 5u?)]?

Tfe p/q = t/s = tju = V5 B, A [(3p? + 4r2 + 5t2)/(3q2 + 4s2 + 5u2)] PT A T 8?2
Options:

1) 1/5

2)5

3)25

4) 60

Correct Answer: 5

Candidate Answer: [ NOT ANSWERED ]

QID : 65 - In triangle ABC, a line is drawn from the vertex A to a point D on BC. If BC = 9 cm and DC = 3 c¢m, then what is the ratio of the areas of triangle ABD
and triangle ADC respectively?

fayst ABC #, = A ¥ BC R 5 Tw g D da Y@ Wik 7€ 71 3 BC = 9 .Y, auT DC = 3 V.. ¥, & = By ABD quT By ADC & ST BT SUId T gIT?
Options:

1)1:1

2)2:1

3)3:1

4)4:1

Correct Answer: 2 : 1

Candidate Answer: [ NOT ANSWERED ]

QID : 66 - PQR is a right angled triangle in which 2R = 90°. If RS L PQ, PR = 3 cm and RQ = 4 cm, then what is the value of RS (in cm)?

PQR T THSHITT By B, SR 4R = 90° &1 Tfe RS L PQ, PR = 3 A7, quTRQ = 4 A7, ], 1 RS &1 A (.70, 7) T 82

Options:
1) 12/5

2) 36/5
3)5

4)25
Correct Answer: 12/5
Candidate Answer: 2.5
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QID : 67 - In triangle PQR, A is the point of intersection of all the altitudes and B is the point of intersection of all the angle bisectors of the triangle. If ~PBR =
105°, then what is the value of 2PAR (in degrees)?

st PQR &, it <fivicia fiig A R uftees & & aur T Bivr fgureis fig B TR uftee #3d 81 3¢ 2PBR = 105° §, dF 2PAR &1 1M (f&3f o) 7 82

Options:
1) 60

2) 100
3) 105

4) 115
Correct Answer: 60
Candidate Answer: [ NOT ANSWERED ]

QID : 68 - If there are four lines in a plane, then what cannot be the number of points of intersection of these lines?

Ife; T TR (W) H IR YT 8, A 37 X@ieh & ufawes gl 3 wem war e 8 gl
Options:

1)0

2)5

3)4

4)7

Correct Answer: 7

Candidate Answer: [ NOT ANSWERED ]

QID : 69 - What is the simplified value of cosec 2A + cot 2A?

cosec 2A + cot 2A &1 ﬂT(‘*ﬂqv_d o T 82
Options:

1)secA

2) sec (A/2)

3) cotA

4) cot? A

Correct Answer: cot A

Candidate Answer: [ NOT ANSWERED ]

QID: 70 -If A = 30° B = 60° and C = 135°, then what is the value of sin3A + cos3B + tan3C — 3sin A cos B tan C?

Tfe A = 30°, B = 60° YT C = 135° &, @ sin3A + cos3B + tan3C — 3sin A cos B tan C &1 AT T GHIT?
Options:

1)0

2)1

3)8

4)9

Correct Answer: 0

Candidate Answer: [ NOT ANSWERED ]

QID : 71 - What is the least value of tan 6 + cot? 8 + sin? 6 + cos? 8 + sec? 8 + cosec? 6?

tan? 8 + cot? 8 + sin? B + cos? 8 + sec? B + cosec? B HT AT A T §?
Options:

1)1

2)3

3)5

4)7
Correct Answer: 7
Candidate Answer: [ NOT ANSWERED ]
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QID: 72-
The pie chart given below shows the break-up of

number of hours of teaching various subjects at an
institute by Mr. Raghav.

g oo o g9 By A 4 gue e R gwue
Fefferzor o1 o T ¥

Suflfzi)gteancy,f Modern Maths
Hwst @ | aregfera
Data qATCTT “4‘513/'3
Interpretation / 4%, E —
-l System / H&AT
TEfa
o 23%
Algebra/
Herarfora
0
i Arithmetic/
FHeafora
Geometry / "
6%

If Mr. Raghav taught a total of 500 hours, then what is the difference in number of hours of teaching algebra and modern Maths?
gfe; it 99 H& 500 B TGN &, < IO T SNy TG ug & Hel H T 3fR 82

Options:

1) 15

2) 20

3) 25

4) 40
Correct Answer: 25
Candidate Answer: 25
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QID:73-
The pie chart given below shows the break-up of

number of hours of teaching various subjects at an
institute by Mr. Raghav.

g oo o g9 By A 4 gue e R gwue
Fefferzor o1 o T ¥

Suflfzi)gteancy,f Modern Maths
Hwst @ | aregfera
Data qATCTT “4‘513/'3
Interpretation / 4%, E —
-l System / H&AT
TEfa
o 23%
Algebra/
Herarfora
0
i Arithmetic/
FHeafora
Geometry / "
6%

m BYJU'S

Mr. Raghav taught Geometry for 36 hours. If the time taken in teaching Ratio consitutes one-fourth of the time for Arithmetic, then for how much time (in hours) did

he taught the topic of Ratio?

ot Irag AT B 36 ©< UG ¥ Al U UgM & @vH a1 °e, SIHIIa H T aTdl el &1 U TIUTS YT ], Al 3uTd &1 I g & Ry 98 fba i (get

) o 82
Options:
1) 46
2)51.75
3) 69

4) 103.5
Correct Answer: 69
Candidate Answer: 69

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MDkwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c
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QID: 74-
The pie chart given below shows the break-up of

number of hours of teaching various subjects at an
institute by Mr. Raghav.

g oo o g9 By A 4 gue e R gwue
Fefferzor o1 o T ¥

Suflfzi)gteancy,f Modern Maths
Hwst @ | aregfera
Data qATCTT “4‘513/'3
Interpretation / 4%, E —
-l System / H&AT
TEfa
o 23%
Algebra/
Herarfora
0
i Arithmetic/
FHeafora
Geometry / "
6%

If Data Interpretation and Modern Maths were taught for a combined time of 96 hours, then for how much time (in hours) were Number system and Geometry
taught?

e, SHTer St BT YRR TUT MY TG Ygad 0 ¥ 96 B F oW Uey 1Y, o TRedm Ul qum Snfiifay ) fobas qa (%iet #) d uern T/
N

2) 184

3) 216

4) 232
Correct Answer: 232
Candidate Answer: [ NOT ANSWERED ]
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QID: 75 -
The pie chart given below shows the break-up of

number of hours of teaching various subjects at an
institute by Mr. Raghav.

g oo o g9 By A 4 gue e R gwue
Fefferzor o1 o T ¥

Suflfzi)gteancy,f Modern Maths
Hwst @ | aregfera
Data qATCTT 3|4|qu|?|'
Interpretation / 49, g _—
-l System / H&AT
TEfa
o 23%
Algebra/
Herarfora
0
i Arithmetic/
FHeafora
Geometry / "
6%

A new topic named Problem Solving was also introduced and it was decided that 10% time of all topics except Arithmetic will be devoted to it. What will be the
central angle (in degrees) made by Problem Solving in the new pie chart?

T AT AT Ueb =17 [qwe Xfive 3 TTam & aut a9 gon fb Siemiord 3 sramar waft fawat &1 10% Tw 39 favg ) faan S| e g7 e & auan s
GRT ST 7T Heg 1o (Fuht )  gme

Options:

1) 17.28

2) 18
3) 19.44

4) 36
Correct Answer: 19.44
Candidate Answer: [ NOT ANSWERED ]

QID : 76 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select ‘No error’.

If you had (1)/ told me earlier (2)/ I will help you. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4) 4

Correct Answer: 3

Candidate Answer: 3

QID : 77 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select ‘No error’.

Her mother is (1)/ angry and (2)/ indifferent to me. (3)/ No Error (4)

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MDkwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 21/26
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Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: 3

QID : 78 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

Don't loiter the corridor.
Options:

1) around

2) off

3) of

4) at

Correct Answer: around
Candidate Answer: around

QID : 79 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

I will scold him when
Options:

1) he will come

2) he comes

3) he would come

4) he had come.

Correct Answer: he comes
Candidate Answer: he comes

QID : 80 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Mellifluous
Options:
1) Shiver

2) Frank

3) Immoral
4) Dulcet

Correct Answer: Dulcet
Candidate Answer: [ NOT ANSWERED ]

QID : 81 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Dodge

Options:

1) Soften

2) Order

3) Avoid

4) Chaotic

Correct Answer: Avoid

Candidate Answer: [ NOT ANSWERED ]

QID : 82 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Meretricious
Options:
1) Brazen
2) Natural
3) Exemplary
4) Gaudy

Correct Answer: Natural
Candidate Answer: [ NOT ANSWERED ]

QID : 83 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Nebulous
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Options:
1) Definite
2) Inchoate
3) Dismal
4) Sullen

Correct Answer: Definite
Candidate Answer: [ NOT ANSWERED ]

QID : 84 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/Phrase.

Spick and Span
Options:

1) High and low
2) Dark and light
3) Neat and clean
4) Happy and sad

Correct Answer: Neat and clean
Candidate Answer: Neat and clean

QID : 85 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/Phrase.

To draw the longbow
Options:

1) To nullify

2) To exaggerate

3) To underrate

4) To demarcate

Correct Answer: To exaggerate
Candidate Answer: [ NOT ANSWERED ]

QID : 86 - Improve the bracketed part of the sentence.

By rescuing the child from fire, the local resident (added another feather to his cap.)
Options:

1) made a significant achievement

2) was gifted with precious thing

3) was crowned and rewarded

4) No improvement

Correct Answer: made a significant achievement
Candidate Answer: made a significant achievement

QID : 87 - Improve the bracketed part of the sentence.

The government plans to (take up) the construction project soon.
Options:

1) Take on

2) Take off

3) Take in

4) No improvement

Correct Answer: No improvement
Candidate Answer: No improvement

QID : 88 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

A man devoid of kind feeling and sympathy.
Options:

1) Callous

2) Credulous

3) Gullible

4) Bohemian

Correct Answer: Callous
Candidate Answer: Callous

QID : 89 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

One who eats two much

Options:

1) Impostor

2) Glutton

3) Hypochondriac
4) Intestate

Correct Answer: Glutton
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Candidate Answer: Glutton

QID : 90 - In the following question, four words are given out of which one word is incorrectly spelt. Find the incorrectly spelt word.
Options:

1) Forfeit

2) Gorilla

3) Blissfull

4) Corrupt

Correct Answer: Blissfull

Candidate Answer: Blissfull

QID : 91 - In the following question, four words are given out of which one word is incorrectly spelt. Find the incorrectly spelt word.
Options:

1) Afforestation

2) Translusent

3) Foreigner

4) Achievement

Correct Answer: Translusent

Candidate Answer: Translusent

QID : 92 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P- The aim must be to ensure that our country does not experience either paucity or a-surfeit of trained manpower in any specific segment of our economy.

Q- When we set about the task of higher education, we should be absolutely clear in our perception of the goals of education in the specific context of our nation’s
development.

R- No doubt, one of the important aims of education would be to create the required range and nature of trained manpower assessed to be needed by different
sectors of national growth.

S- The entire educational apparatus must be geared progressively to fulfill the requirements of different phases of our growth in every sector primary, secondary and
tertiary.

Options:

1) SQPR

2) QRSP

3) SRQP

4) PSQR

Correct Answer: QRSP

Candidate Answer: [ NOT ANSWERED ]

QID : 93 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P- Bureaucratic cultures can smother those who want to respond to shifting conditions.

Q- Arrogant managers can overevaluate their current performance and competitive position listen poorly and learn slowly.
R- And the lack of leadership leaves no force inside these organizations to break out of the morass.

S- Inwardly focused employees can have difficulty seeing the very forces that present threats and opportunities.
Options:

1) PRQS

2) SPQR

3) RQPS

4) QSPR

Correct Answer: QSPR

Candidate Answer: [ NOT ANSWERED ]

QID : 94 - In the following question, a sentence has been given in Active/Passive voice. Out of four alternatives suggested, select the one which best expresses the
same sentence in Passive/Active voice.

She teaches us English.

Options:

1) English is being taught to us by her.
2) We are taught English by her.

3) English have been taught to us by her.
4) We had been taught English by her.

Correct Answer: We are taught English by her.
Candidate Answer: We are taught English by her.

QID : 95 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

Nisha said to Swati, " Will you help me in my project just now?"
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Options:

1) Nisha told Swati whether she will help her in her project just now.

2) Nisha asked Swati if she would help her in her project just then.

3) Nisha questioned to Swati that will you help me in my project just now.

4) Nisha asked to Swati that will she help her in her work just now.

Correct Answer: Nisha asked Swati if she would help her in her project just then.

Candidate Answer: Nisha asked Swati if she would help her in her project just then.

QID : 96 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Democracy should dignity of the individual. It should also aim at the good of the greatest . The opposition party should the wrong plans,
policies and decisions of the government in power. The government should cater to the needs of the people to make its position solid.

Democracy should
Options:

1) built

2) ensure

3) keep

4) support

Correct Answer: ensure
Candidate Answer: ensure

dignity of the individual.

QID : 97 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Democracy should dignity of the individual. It should also aim at the good of the greatest . The opposition party should the wrong plans,
policies and decisions of the government in power. The government should cater to the needs of the people to make its position solid.

It should also aim at the good
Options:

1) greatest

2) smallest

3) largest

4) heaviest

Correct Answer: greatest

Candidate Answer: greatest

QID : 98 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Democracy should dignity of the individual. It should also aim at the good of the greatest . The opposition party should the wrong plans,
policies and decisions of the government in power. The government should cater to the needs of the people to make its position solid.

of the greatest . The opposition party
Options:

1) people

2) digit

3) number

4) individual

Correct Answer: number

Candidate Answer: number

QID : 99 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Democracy should dignity of the individual. It should also aim at the good of the greatest . The opposition party should the wrong plans,
policies and decisions of the government in power. The government should cater to the needs of the people to make its position solid.

should the wrong plans, policies and decisions of the government in power.
Options:

1) rely on

2) against

3) support

4) oppose

Correct Answer: oppose

Candidate Answer: oppose

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MDkwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 25/26



9/7/m BYJU'S Staff Selection Commision m BYJU'S

QID : 100 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Democracy should dignity of the individual. It should also aim at the good of the greatest . The opposition party should the wrong plans,
policies and decisions of the government in power. The government should cater to the needs of the people to make its position solid.

The government should cater to the
Options:

1) genuine

2) mere

3) emotional

4) luxurious

Correct Answer: genuine

Candidate Answer: genuine

needs of the people to make its position solid.
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